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COMMON MALF YEARLY EXAMINATION - 2024
Standard - X1 " [l ET7
Time: 3,00 hrs. MATHEMATICS Marks: 90
PART - 1
1) ANl guestions are compulsory.
") mhmnmwm‘hm"m""
write the option code and the corresponding answer: 20x1
\. "“{l‘a v) : v-llnl,lﬂn}'""l' {(" Y). ¥y = cose, ¥ l'}”k"
contains
1) no element 2) infinitely many elerments
3) only one element 4) cannot be deterrmined
2. Let A and B be subsets of the universal set N, the set of natural numbers, Ther
A'(ANB)B'] Is -
1)A 2)A' 3)B AN
3. The number of solutions of x? + |x - 1) = 1 is
1)1 2)0 3)2, 4)3
4. The solution set of the following inequality |x - 1] 2 |x - 3] is
1) [0, 2) 2) [2, =] 3) (0, 2) 4) (-=, 2)
S. One radian is equal to (interms of degree)
180° " _ 180° 11
DT 2) 1s0e s 4) 1800
6. In a triangle ABC, sin?A + sin?B + sin?C ¢ 2, then the triangle is
1) equilateral triangle 2) isosceles triangle ) right triangle 4) scalene Tangee
7. In 33ﬁngers, the number of ways four rings can be womn is ways
1)43 -1 3 3)68 4) 64
8. 1+3+5+7+ ... + 17 is equal to
1) 101 2) 81 3)71
9. e'°9% js equal to : b
1)x 2)1 Pe 4) | .
4
10. Which of the following equation is the locus of (at?, 2at) 4
) vy
DT VO T ! IRl gyea,
0 a -p]
11. The value of the determinantof A~ |-8 0 ¢ | is
b ~-¢ ©
1) <2abc ’
: :] II:C ”0 HNod oy o2
12. The value of |2 2y 2, In
oy o
1)1 2) xyz UR B
ll.ﬂuvrctnngslb_:'( i Nxtyag No

1) parallel 10 Sach o 2) UMk vectors
Kindly Send Me Your Key Answer to Our email id - Padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www.Trb Tnpsc.Com

2 %) - MATHE
LU
T E“.'\: = ! - "
N1 e 3) Ve 0

- - =1, ~1) 80 that
15. The function f(u]-?‘!--l-unmd.nnldfofl 1 m"‘fﬂdl‘( )

X" 41
the function extended by this value IS continuous |5

: 2 31 40
1) 3 ? 3
_l—tz & 2t E!
v S TC ALk L
X £
. Yy .- 4) °
0-t &l "3 v
d :
1?.prv=81,thena-% atv=09is
1)1 2) -1 3)2 4) -2
1 —
18. l;;dx—
~Awe | ) k.2 4) X+ C
1) loge* +c¢ 2) ~ ox ;;

19. If [f(x) dx = g(x) + ¢, then f(x)g [x] dx

1) [(f%) dx 2) [f(x) g dx . 3) [FO)gx)dx  4) [(g(x))* dx
20. If A and B are two events such that A ~ B and P(B) « 0, then which of the
following is correct?

1) P(A/B)= -:%j) 2) P(A/B) < P(A)  3) P(A/B) 2P(A) 4)P(A/B) > P(B)

PART - II
Answer any seven questions. Question No.30 is compulsory; 7x2=14 "
21, Letf and g be the two functions from R to R defined by f(x) « x and g(x) = X"
Findgofandfog.

1
22. Find the positive number smaller that 51560 Justify,

2% An Englneer has to develop a triangular shaped park with § permeter 120m in 8

Mage. The park to be developed MUst be of maximum ,rea. Find out the
Bimensions of the park.

240 4 (- 1)) = 30, then find the value of n,

“25/¥1nd the siope of the straight line passing through the poiny (5, 7) and (7. 5)-
" Ngo of the line with th
find the angle of Inclination @ X axis,
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‘0 tanfe
0 sec’a «0
W % 2

27. Find a unit vector along the direction of the vector 5| - 3) + &

26. Prove that

28. Compute !im ;% J-E

29. Differentiatey = [, " /%
30. Find the probability of getting the number 7, when a usual die is rofies,

PART - III
Answer any seven questions. Question No.40 is compulsory. 7x3=21

1
31. Find the range of the function f(x) = ;—3c=

Solve (2x + 1)2 - (3x + 2)2=0

9

4n
sin? L ¥ 278 and 3%,
Show that 18+$Il‘l 9+sln 18"’5" 9

n
Prove that zncn _ 2 1113;...[31“1)

Find the coefficient of x? in the expansion of (2 = 3x)7.

2||x
Fi [2}( =
nd the value of x if 3][ 3 0] [3] 0

Find the angle between the vectors 2j + j -k and | + 2j « k using vector product.
An integer is chosen at random from the first 100 positive integers. What i<
the probability that the integer chosen is a prime or multiple of 82

il
"Y:l tan (1

&

s 8 ° 8

+ X
39. _x],flnd 5‘5
sinx
40. Evaluate : Imdﬂ
|
PART - 1V
Answaer all the questions: TxS5=3%
75 5 1
4] Prove that [ ] }
a) e that log = zloqlq] mgl}“] log2

(OR)

B)y HH 4 p=u M tan 0 « K tan ¢, then prove that sin(o - ¢) - : :Smu

42. ) Find the numbey of
strings of 4 letters that can be formed with
of the word ““HINATIO:? the letters

(OR)
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) Prove that 'l*- ¥'] 8 “WM““ " wrwen ¥

large. o

43. 2) Show that the straight line Joining ;"' :"T;' E‘;m dm

31-2v+2-0nnd3x3+swi;:,+ x + 5y = 0 arg gt nght angles
b) In the set Z of Integers, define ;Rn if m = nis a multiple of 12. Prove that &

Is an equivalence relation,

4. a) Prove that 32"*2 . gn - 9 is divisible by gforallnzi,
(OR)

s 3 -1

A=|-2 -2 1| 36the sum of a symmetric and
b) Express the matrix {-4 - 2]

a skew - symmetric matrices.
45, 3) Prove that the medians of 2 trlangl;s are concurrent.
(OR

J1+sinx - y1-sinx
tanx

lim
b) Evaluate Lo

9_‘9’_ ) sln’[a+ Y)

46, a) If siny = xsin(a+y), then prove that - s a=nx
(OR)
3x+5
. dx
b) Evaluate : lx‘ T

47. @) There are two identical urhs containing respectively 6 black and 4 red ba's.
2 black and 2 red balls. An urn is chosen at random and a ball is drawn from
it. (i) find the probability that the ball is black (il) if the ball is black, what s
the probability that it is from the first urn?
(OR)

1.1 al

1 b b
b) Provubvhctormethod‘ 2 c,-(n-b](b.ﬂ{c_.”»,ueni
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